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General Instructions to the Candidate :
1. 38 B3BY It [T ) ITEIF, BREOOD .63, 34 TI NI BROOR),
This Question Paper consists of objective and subjective types of total 34
questions.

2. B BI3TEI0DTY, BmND I Fewd BRI (ReF) BIRBORAD. Toeg
33,003 AO0DT, 23 B,FTBE, oD O TTFRIY, FZOX, T,FTE,F00Y,
DR, N QO30 20T TOCFRTRY,
This question paper has been sealed by reverse jacket. You have to cut on the
right side to open the paper at the time of commencement of the examination.
Check whether all the pages of the question paper are intact.

3. TR WO WOV WIRTOD @%ﬁ@ﬁ %Jaééjdaaj mwﬁms& OO,
Follow the instructions given against both the objective and subjective
types of questions.

R NO) mﬁd@%@@i&d 903N @%n@ﬁmw TPOF eﬁosmfsg{ ZReORTS.

Figures in the right hand margin indicate maximum marks for the question.

5. BITGIoDT LOTRYLO 15 JWTMY  To0RETR) Fe0WoS,  wZOFED
OROTRRCT ARO[, B, FE, 300 Boeenna, Ae@SNT.

The maximum time to answer the paper is given at the top of the question
paper. It includes 15 minutes for reading the question paper.
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LOZTTR), W00 :

Four choices are given for each of the following questions /
incomplete statements. Choose the correct answer and write the

complete answer along with its question number and its letter of

alphabet :

1.

QoL & T WFL S OO BIZTRHOROTT
(A)  BEE 5,

(B) T B,

(C) F& AKOH THTIT 2T

(D)  Henwon WOROT TN éz&w %&dé

The disadvantage of an integral chassis frame is

(A) Low cost
(B) Difficult to repair
(C) Less dead weight of vehicle

(D) Stability for fast moving vehicle
QRINTY TOPHRF T2 VeTTE WOTD YVBT MOED

(A) TIMROIVFDON T, 0T §,0378¢0
(B) @08 @23;3 S ﬁgrﬁ)@ RT3, 08
(C) BERR FYJ® OO

(D) BRB> T TOWOEF

88-EK (Level-2)
3 NS @%ﬂ@ﬁ BT OJPFT JevINOR T, e;soBaJieéal QCTRNT.

OINYY, N BRFTHT YITTRY, O, WTT FRRITRRDR Fpeor
10x1=10
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One of the good properties of lubricant among the following is

(A) Chemically highly reactive
(B) Very high viscosity index
(C) Low flash point

(D) Low pour point

3. QT Bedwo B,[I 0D LRNBY,
(A) TeRodewdot (B) Terodoeeso® g,

(C) oI (D) wdraermw &3

This is not the part of the cooling system.
(A) Radiator (B) Radiator fan

(C) Bonnet (D) Thermostat

4. DOTIF U, 05 ToBTION WOTHTeY) WVO0WT ILOTOTH A

(A) TreDone (B) oSnaone
(C) O (D) @a:)orﬁ

The tendency of a vehicle to dive in its front on apply of brake is
(A) Rolling (B) Yawing
(C) Bottoming (D) Dipping
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5.

QW (1), ﬁpeczjezss( V) @03 %,830¢3 ( R) NYNTOE Fowog

R
B) V==
(C) V=IR (D) V =I°R

The relationship between current ( I), voltage ( V) and Resistance

(R)is
I R

A V=% B) V==

(C) V=IR (D) V =1I°R

mssm}% DT TOB) WA TN Fo0NF ABF AL TTOL BREIT

YVTTTED
(A) Qe w) QBSNUG (B) Q0@ ?’gpex; O,
(C) T B0, (D) TR, e35° 0w

The equipment that helps to lift the vehicle and to carry out of the

work under chassis is

(A) Wheel balancer (B) Two-post lift

(C) Air compressor (D) Pneumatic wrench
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7. a0ER BORY RouES W S0°S O

A) wF D IO (B) mocdpewE m IO°

©) Qeorss m FoF (D) oor W FoF

The type of spanner in which both the ends are closed is
(A) Box spanner (B) Combination spanner

(C) Wheel nut spanner (D) Ring spanner
8. WITIT SOV WY VWS YOTI) WISICWATIN  wIeFords

eVTTTED
(A) B, Fn* DI Joes® (B) waéeﬁése
(C) SRR, Sous D) AT

The tool required while changing the oil and oil filter in a vehicle
is

(A) Drain plug socket wrench

(B) Mallet

(C) Pneumatic wrench
(D) Snips

9. WOV mwswc@;mg@e QOT* ngsazﬁ
(A) ézsowfaows RAO0TT® w91 TREMOTT
(B) @z%ws oY QORI IR TRENTT
(C) VOPIT LT TURMOTTI
(D) VOFIT W@ TRTWOTRMIST
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II.

The clogged fuel filter in a vehicle

(A) makes more fuel to flow inside the cylinder
(B) allows more air to enter into the engine

(C) increases the fuel pressure

(D) reduces the fuel pressure

10. 2,080 ST3F edBodd (BRS0E®) 1oes
(A) @zﬁgﬁ SO, AT, (B) &5% R, @@
(C) QFOT (D) ©&3 &T
The property of an ideal coolant is
(A) High heat capacity (B) High viscosity
(C) Toxic (D) Expensive
BATTRT YOFTROT WEITOH TR, Y3 SRR 4x1=4
Fill in the blanks with suitable answer :
11. %@@ O030= 5207% a—ammq ..................... DY, =T0.

12.

13.

14.

The minimum temperature at which the oil will pour is
called .......cceeeeneenee .

VAW FRITY, LOTOIRENTOT  NEAMT WO v,
GVTTTED.

A grease gunis a .......c.cceeeueenis tool used for lubrication.

Be38 (BRUOLF)OBORY, +vovvvvevvrrenernnne SRRV WITWRTT.
Coolant should be changed at every .................. years.

79,33 3030 %WOTI &)30080 90T ... .

One of the important aspects of customer service is ................ .
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III.

88-EK (Level-2)

15. A-TEDY SHREAY T LOTFILINE LTARANTRY, Tone B-TeSabS)
SRR T WTY  YOTTSLONSRY, AERRNT. SPYNTRY, TRV
QOZTRERY 3, RIFSRLR0NT WICD :

Uses of automobile tools are given

4x1=4

in Column-A and

automobile tools are given in Column-B. Match them and

write the answer along with its letter of alphabet.

ii)

iii)

iv)

A-TE
eJ
Column-A

MOYCI TRT, TRRO BNRE MoYOD WERE a)
BRI

Increase the pressure of air by
reducing the volume

©8 ARF 0BT ©YOINT WWTTTD D)

Precise measuring tool

WO, MOTOZ, 580300 YVTFTED c)

An instrument to measure the

specific gravity
ofgjaeezjews RW,T DB 3,883 d)
PO YVB3RENTOZT.

Used to measure voltage, current

and resistance

B-3T&8
eJ
Column-B

3, BERTE

Hydrometer

msmgwse ofot5atey)

Pneumatic wrenches

m@j&ge@scs

Multimeter

DT OB RO

Air compressor

RRees?
Screw gauge

mﬁmmeucﬁ

Tachometer
Qe 230 ST 0
o LX)

Wheel balancer
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IV. 33903 @%ﬁ@ﬁ Qg0 6x1=6
Answer the following questions :

16. 2WRTF F,C0FNE T WTFNF, TROX.

Name the two types of chassis frames.

17. ROLCBS ©OT0TOS 0TTEe0 ?

What is compression ratio ?

18. %igbone wéwﬁ@odo @wsssémfmq 20TOD.

Write the requirements of steering system.

19. 9T QOT° m%@%f; msbsmﬁd. QT ?

Air filter is important for a vehicle. Why ?
20. DT DWS[IY, RN SNEIBRLICTHT BA0N,TD 830N
O3RN ?

What are the precautions to be taken during vehicle washing ?

21. “RoWermodew Mowew &8 & 0dResTOR ZBTOINRNG.” Tert ?

"The sensitive air bag system helpful to passengers". How ?
V. 3390 ?’_.:)Elﬁ@ﬁ QgL 6 x2=12

Answer the following questions :
22. de)% wéwﬁ@oda Relelary) m%%m@{ QRO

Explain gravity fuel supply system.
23. TW00LINT @?'35 FOOEF N C3o)w) ?

What are the functions of the front axle ?
24, QTW TPETE OFTF Wi 3T WTOWD.

ed ed N )
Write a short note on two-post lift
&5/ OR
BRI i 83T S 2ToW0.
-] N S

Write a short note on screw gauge.
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25.

DT LOT® WBLDORTN ORORORLeTT TOSNETY, TEIPER.

List the steps for changing of air filter.

26. OBINTTY Zpgoen SRIATOLS 02 BREETNTIY
PUTC3RENTWIITT. T ?
Soap and detergents should not be used while washing a vehicle.
Why ?

27. HTIT VOFI POT (whpéojoeﬁ 3;)%56) WY, WHETRCWRT 8RB,
QDROR.
Explain the procedure for changing fuel filter.

&5/ OR
3633 (3RS0 WTTROWRTIN SRIVOROT BT, NFOR:.
Explain the procedure for changing coolant.
VI. 33303 @%ﬁ@ﬁ Qg0 4x%x3=12

Answer the following questions :

28.

TOBINGY, TP* TICWOL® 0B FPET* T 53T TemoNT3. Ters 2
TRORFA.

In a vehicle flash point and pour point is necessary. How ?
Justify.

&5/ OR

BINTY, ANE T THFODIT ITID ©BTFeoND. Tert 7
TROHFA.

In a vehicle viscosity and chemical stability is necessary. How ?
Justify.

[ Turn over
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VII.

29.

30.

31.

%% WS, B0, IAT ERNNERY THDE :
(i) ésaagorﬁ

(i) =D

Draw the diagram of file and label the following parts :
(i) Tang

(ii) Face

AR’ BRI T, 0TS B0t [WREOT DTN, DBOR.

Explain the methods of washing a vehicle at service station.

TOBIT CIRRYTIITTR STV )T/ BITWINTI), TLRHR.

List any six important innovations of a vehicle.

3: 99T B 3Ren wogon : 3x4=12

Answer the following questions :

32.

ORT T HBOODNEE T xwwe @§@5 233)55;% 2BOD. IPNT mﬁmf@{
TS8R ©

() Ry g
i) WO T

Draw the diagram of Reverse Elliot type stub axle and label the

following parts :
(i) Stub axle
(i) Cotter pin

&5/ OR
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239,630 BEAT 238,33, LTOWO. FENT LNNFR), MOTOSA

(i) FFeeF FoT'F
(i) «OFo0eF
Draw the diagram of a battery case and label the following parts :

(i) Plate sharp

(ii) Element

33. wEpeknt] e’ BOTY03Q, LUTOIRENTOT LR LITTTENTIY, THOX.
Name the special tools used in automobile servicing.
&5/ OR
5@?35?9)71%332{ RO :
(R SARACRARIS oy
(i) &R 06T’
Explain the following :

(i) Tachometer

(i) Hydrometer
34. M,®T AeS0D 30D BOINTRY, QTR

Explain the important aspects of a customer service.
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